
1 Namn:Arbetsblad

1:1 Multiplikation
	 1	 a)	62 · 73 = 

b)	92 · 45 = 

c)	 43 · 82 = 

d)	38 · 57 = 

	 2	 a)	41 · 73 = 

b)	82 · 59 = 

c)	 26 · 51 = 

d)	77 · 48 = 

Placera decimaltecknet på rätt ställe i produkten.

	 3	 a)	2,3 · 8,9 = 20 47	 b)	9,3 · 7,2 = 66 96	 c)	 6,87 · 5,1 = 35 037	 d)	4,2 · 0,99 = 4 158

	 4	 a)	 	 b)	 	 c)	 	 d)		

	 5	 a)	2,9 · 3,1 = 

b)	4,7 · 8,3 = 

c)	 68 · 3,1 = 

d)	5,2 · 96 = 

, , , ,
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· 3, 1 2 · 7, 8 1  1 · 8, 9 2  2 · 5 1 3  

4 9 7 3 6 5 6 7 5 7
+ 1 4 7 + 6 4 4 + 5 0 4 + 2 8 5

1 5, 1 9 7 1, 7 6 5 6 0, 7 2 9 0, 7

4 526	

4 140	 	

3 526

2 166	

2 993	

4 838	 	

1 326

3 696	

8,99	

39,01

210,8

499,2	
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1Namn:Arbetsblad

1:2 Division
	 1 	Placera decimaltecknet på rätt ställe i kvoten.

a)	 ​ 5,4 ___ 
4

 ​ = 13 5

b)	 ​ 18,8 ____ 
8

 ​ = 23 5

c)	 ​ 56 ___ 
5

 ​ = 11 2

d)	​ 15 ___ 
4

 ​ = 3 75

	 2	 a)	 ​ 8,7 ___ 
6

 ​ = 

b)	 ​ 24,1 ____ 
5

 ​  = 

c)	 ​ 30,6 ____ 
4

 ​  = 

d)	​ 9,2 ___ 
8

 ​ = 

	 3	 a)	 ​ 93 ___ 
2

 ​ = 

b)	 ​ 99 ___ 
6

 ​ = 

c)	 ​ 748 ____ 
8

 ​ = 

d)	​ 858 ____ 
4

 ​ = 

	 4	 a)	 ​ 90 ___ 
8

 ​ = 

b)	 ​ 255 ____ 
6

 ​ = 

c)	 ​ 74 ___ 
4

 ​ = 

d)	​ 654 ____ 
5

 ​ = 

,

,

,

,

1,45	

	 4,82

	 7,65

1,15	

46,5	

	16,5

	93,5

	 214,5	

11,25	

	42,5

	18,5

	 130,8	
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1 Namn:Arbetsblad

1:3 Addition
	 1	 a)	379,5 + 23,88 = 

b)	12,09 + 769,2 = 

c)	 761,37 + 48,8 = 

d)	39,6 + 104,71 = 

	 2	 a)	23,56 + 539,8 = 

b)	382,7 + 991,43 = 

c)	 8 125,5 + 308,61 = 

d)	49,8 + 116,49 = 

	 3	 a)	371,3 + 59,85 = 

b)	27,44 + 494,8 = 

c)	 648,2 + 85,89 = 

d)	29,41 + 650,9 = 

	 4	 a)	466,0 + 5,21 = 

b)	2,94 + 735,2 = 

c)	 7,7 + 218,61 = 

d)	845,9 + 9,31 = 

	 5	 a)	4 128,6 + 43,86 = 

b)	8,9 + 3 004,37 = 

c)	 666,4 + 85,96 = 

d)	637,8 + 28,59 = 

403,38	

	781,29

	810,17

	144,31	

563,36	

	1 374,13

	 8 434,11

	166,29	

431,15	

	 522,24

	734,09

	680,31	

471,21	

	 738,14

	226,31

	855,21	

	 4 172,46

	3 013,27

	752,36

	666,39	
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1Namn:Arbetsblad

1:4 Subtraktion och uppgift 98
	 1	 a)	376,2 – 38,94 = 

b)	184,55 – 35,7 = 

c)	 207,21 – 44,5 = 

d)	611,4 – 29,78 = 

	 2	 a)	32,21 – 7,6 = 

b)	81,5 – 3,62 = 

c)	 55,28 – 9,3 = 

d)	69,1 – 4,8 = 

	 3	 a)	939,2 – 561,54 = 

b)	280,52 – 93,1 = 

c)	 3 039,4 – 281,59 = 

d)	912,12 – 33,6 = 

	 4	 a)	437,2 – 7,85 = 

b)	830,1 – 9,64 = 

c)	 275,4 – 57,8 = 

d)	829,39 – 6,6 = 

Uppgift 98 sidan 30

337,26	

	148,85

	162,71

	581,62	

24,61	

	77,88

	45,98

	64,3	

	 377,66

	 187,42

	 2 757,81

	878,52	

429,35	

	 820,46

	217,6

	822,79	
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